Chapter 12 Solutions to Odd-numbered END-OF-CHAPTER Problems

1. 
N=4 
        (2*2=4 for 2 years comp semi-annually)
I%=6
PV=–1600
PMT=0
FV=0[image: image1.wmf]alphasolve

1800.81

P/Y=2
C/Y=2
Total amount: $1800.81
Total interest: FV-PV = $200.81

3. 
N=2
            (1/2 *4=2 for 1/2 year comp quarterly)
I%=8
PV=10000
PMT=0
FV=0[image: image2.wmf]alphasolve

10404.00

P/Y=4
C/Y=4
Total amount: $10404.00
Compound Interest= $404.00
5.
APY is always for 1 year

N= 4                  (4 * 1 = 4 for one year compounded quarterly)
I%= 12
PV= –15500
PMT= 0
FV= 0 [image: image3.wmf]alphasolve

17,445.39
P/Y= 4
C/Y= 4
FV= $17,445.39


Compounded Interest $1,945.39
Answer: APY = [image: image4.wmf]$1945.39

.125512.55%

$15500

==

[image: image5.wmf]
7.   
N=16                  (8*2=16 for 8 years comp semi-annually)
I%=3
PV=0[image: image6.wmf]alphasolve

   –4728.19  
PMT=0
FV= 6000 
P/Y=2
C/Y=2
Answer: PV = $4728.19
9.   
N= 28                  (4 * 7 = 28 for 7 years compounded quarterly)
I%= 12
PV= 0 [image: image7.wmf]alphasolve

–7692.55
PMT= 0
FV= 17,600
P/Y= 4
C/Y= 4
Answer: PV = $7692.55
13.
N= 16                  (8 * 2 = 16 for 8 years compounded semi-annually)
I%= 6
PV= –40000
PMT= 0
FV= 0 [image: image8.wmf]alphasolve

64188.26
P/Y= 2
C/Y= 2
Answer: FV = $64188.26
15.
Mystic Bank:
N= 8                 (4 * 2 = 8 for 4 years compounded semi-annually)
I%= 10
PV= –10000
PMT= 0
FV= 0 [image: image9.wmf]alphasolve

14774.55
P/Y= 2
C/Y= 2
Mystic Bank
FV= $14774.55
Compound Interest = FV – PV = $4774.55
Four Rivers Bank
N= 16                 (4 * 4 = 16 for 4 years compounded quarterly)
I%= 8
PV= –10000
PMT= 0
FV= 0 [image: image10.wmf]alphasolve

13727.86
P/Y= 4
C/Y= 4
Four Rivers Bank
FV= $13,727.86
Interest $3,727.86
Answer:  Mystic Bank pays more interest

17. 
N= 24                 (6 * 4 = 24 for 6 years compounded quarterly)
I%= 8
PV= –16000
PMT= 0
FV= 0 [image: image11.wmf]alphasolve

25735.00
P/Y= 4
C/Y= 4
Answer: FV= $25,735.00
19.
N= 16                 (4 * 4 = 16 for 4 years compounded quarterly)
I%= 6
PV= –3000
PMT= 0
FV= 0 [image: image12.wmf]alphasolve

3806.96
P/Y= 4
C/Y= 4
Answer: FV= $3,806.96
21.
APY is always for 1 year
N= 2                 (2 * 1 = 2 for 1 year compounded semi-annually)
I%= 5
PV= –5000
PMT= 0
FV= 0 [image: image13.wmf]alphasolve

5253.13
P/Y= 2
C/Y= 2
FV= $5,253.13
Compound Interest= FV-PV= $5,253.13 – $5,000= $253.13
Answer: APY = [image: image14.wmf]$253.13

.0506265.06%

$5000

==


23.
N= 8                 (4 * 2 = 8 for 4 years compounded semi-annually)
I%= 12
PV= 0 [image: image15.wmf]alphasolve

5253.13
PMT= 0
FV= 60000
P/Y= 2
C/Y= 2
Answer:  PV = $37,644.74
25.
N= 10                 (5 * 2 = 10 for 5 years compounded semi-annually)
I%= 12
PV= –10000
PMT= 0
FV= 0 [image: image16.wmf]alphasolve

17908.48
P/Y= 2
C/Y= 2
Answer:  FV = $17,908.48. Yes will have over $15,000
27.
N= 16                 (8 * 2 = 16 for 8 years compounded semi-annually)
I%= 6
PV= 0 [image: image17.wmf]alphasolve

-3739.00
PMT= 0
FV= 6000
P/Y= 2
C/Y= 2
Answer:  PV = $3739.00
29.
N= 8                 (4 * 2 = 8 for 4 years compounded semi-annually)
I%= 8
PV= 0 [image: image18.wmf]alphasolve

–13883.11
PMT= 0
FV= 19000
P/Y= 2
C/Y= 2
Answer:  PV = $13,883.11
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